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Section : General Intelligence and Reasoning

Ans
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Question ID : 26433069145
Status : Answered
Chosen Option : 1

I.6-4+9x
Ans X 1.54,5

X 4.17,5

 2.35,3
< 3.81,16

5+3

Q.2 dt i g Tt aur € gl Bt U # YR dgan & U HHRT: FHISRT (1) 9T (1)

& 9= | g
+qYUT—, 6TUT9
.L6-5x9+8+2

Question ID : 264330105158
Status : Answered
Chosen Option : 2




Q3 A ve & I Fr DT rerET-3rereT BufFar S g §) @ear 5 &
ZalTer aTel Bl & f3udig $osd W Fia-0r FgEar g

Figure 1 Figure 2 Figure 3
Ans X 1.6

X 2.1
3.3
X 4.4

Question ID : 26433081529
Status : Answered
Chosen Option : 3

O dor @ few R % 3O VN W @ @, R T waiee & e e

T Z9uT wfafes & =TI Hi
M

tp7d43
N

Ans X1 EVPYq1
v2 €MDY Q1

X3 EpdNd?
X+ E¥bVpl

Question ID : 26433068200
Status : Answered
Chosen Option : 2

Q5 A$BPTAIRA BHTUME
A@BHTIIE A BB TR
A#BHTAY R A, BHTRGT®
A*BHTASZ A, BHATY
ARAX@Y$JI*MT, @XM

Ans X 145
X 2. unft
< 3.q@l

& 4. 8T

Question ID : 26433068070
Status : Answered
Chosen Option : 4




Q6 FRAxBHTIIEFABHTUER A:BHTITRfF A BF I TgTR, A+BHTISR
?A, B &1 e @, o) frufef@d # @ @19 a1 <vie g8 Fefud $ar g, f5 P, R &1 849
?

Ans X 1.PxQ=+R
& 2.P+QxR
X 3.P-Q+R
X4 P+QxR

Question ID : 264330105001
Status : Answered
Chosen Option : 2

Q.7 T L Rl #) U § WER geom W FufifEd & & i a1 weiiewo w8 ghm?
+ dYT x

Ans X 1.4x3+6-7+1=18
X 2.13+4x5-6+2=51
X 3.7+5x2-8+4=36
& 4.95+19+5x3-6=22

Question ID : 264330105116
Status : Answered
Chosen Option : 4

Q.8 uw [Afd e UTwr §, 'GHOST’ & 'VVSMM' 3R ‘EATER' @ 'THXFK' & ¥4 ® foraT Sirar
21 3t T UTHT H "HANDS' ! fF T UeR | frar sem?
Ans X 1.VGRGN

7< 2. WHRGN
« 3. UGRFN
7< 4. NFRGV

Question ID : 26433069570
Status : Answered
Chosen Option : 3

Q.9 7 fRw T uy #, IR @ g i Y | vl g (<) & 9l 3R & T "en (<) &
Y 3R &Y TS T @ et adb/fFramEy A et 81 9 g S e abfamRiEy
F AMMYR R 99 g1 U T el & & faww #1 gfg (o §: Tensi & 39% Jues
3wt # fywifra fru o, yof wremeif w wfirart fFAonfea 9t st anfye) Sarewor 13- -
13wﬁmﬁﬁﬁ%13ﬁwﬁsmmnynmm%mmm%l 13133 A
e 3R fie 1 3% 3 R v wipame #3A Ft srgafa T8 @)

Ans 7 1.44-84
X 2.14-26
< 3.18-34
< 4.16-30

Question ID : 264330105061
Status : Answered
Chosen Option : 1




Q.10
== guur # o B9 & saEn PQ 9T @ e g, & R g & aaw

el HEY guuT wiafee T w

P

CYLINDES8

Q

" x A3ANIIYD
x283ANNIYD
<+ A3ANNILYD
v+ 83AUIIYD

Question ID : 26433067826
Status : Answered
Chosen Option : 4

Q.1 FufifET & @ o1 a1 seR-wg & 7% e # uufRE (?) F RIF W 1E?
AZBY, BYCX, CXDW, ?, EVFU

Ans X 1.DVEW
< 2. DWFV
7< 3. DVEU
4. DWEV

Question ID : 26433059850
Status : Answered
Chosen Option : 4

2 d
NTS, JZF, FFS, BLF, ?

Ans X 1.XMO
X 2. XMQ
X 3.XSM
& 4. XRS

Q.12 wa@%qﬁmw%,ﬁqﬁﬁwuz@a%lmwﬁmﬁﬁﬁwmqﬁmwﬁ
S d

Question ID : 264330104808
Status : Answered
Chosen Option : 4

Q.13 el ¥ A IW A=y FT 994 DI o & 18 wemsit & & agt Wy 8, Wi day
R e ¢ gq=al A Sensi & =R
(Fe: 3Ty HEeit R ®1g ot Afthar 399 g il # faurim farg fam, yof Temsif
WE B )
(13, 39, 6)
(9, 18, 4)

Ans 7 1.(12,48,8)
X 2.(15, 45, 3)
< 3.(20, 28, 8)
X 4.(12, 50, 13)

Question ID : 26433069241
Status : Answered
Chosen Option : 1




Q.14 3 AT TU 9y ¥ $© YA 3R ITF q1¢ 34 FYHI W UG 8 fepd faw 7w §1 faw
T YT B e A, YA & ITH JrA=IE: FId T A firsar g1 9 e ue ofik R
fruifea #3¥ & F19 § e, T ¢ FY4=1 &1 aifdhe T0 F gERu Hd 81
DY

1. $3 A, %;ﬁ%
Fras o
1. ft paff, AW &1

Ans X 1. %ad SR | SFTER0 FT &
X 2. it s SFgER BRa §
3. D18 1t Frsp efgeur Tl avar &
2< 4,113 11 Fee offeRor v §

Question ID : 264330104928
Status : Answered
Chosen Option : 3

Q.1

° e 3mpfa-g@er & I W & O swA TeF-FEa (7) F TE W
i dr farew smpfa sl =nfge?

C I ¥ P

Xﬁ'PPCXB‘::rCCXS?

Ans

Question ID : 26433076655
Status : Not Answered
Chosen Option : --




Q.16 Select the word-pair that best represents a similar relationship to the one expressed in
the pair of words given below. (The words must be considered as meaningful English
words and must not be related to each other based on the number of letters/number of
consonants/vowels in the word.)

Dog : Kennel
Ans ” 1.Bee: Hive

/% 2. Hare : Den
< 3. Lion : Burrow
/< 4. Spider : Shed

Question ID : 26433068338
Status : Answered
Chosen Option : 1

Q.17 fafafae IR ser-TaeET § F 94 ol A adie & T § 8l 39 YR tF 9ug
A &1 B T JER-TAE 39 UHE & wahta T8 872

Ans X 1.PUK
< 2. CHX
X 3.FKA
 4.CJZ

Question ID : 26433081505
Status : Answered
Chosen Option : 4

Q.18 oy 7Y afieRur %) wgferd 34 & fore g & | f5e1 Y WRemsif &) U SgeHT g
7x4+14+12+30=50

Ans X 1.12,14
X247
7 3.30, 50
& 4.7,14

Question ID : 26433069599
Status : Answered
Chosen Option : 4

Q.19 39 P g B R FBImd 3y # 3 veR Tafta § o ver frafafeaa
| 5t IEIE e # el g1
(Fite: T B TP gew il | fyurima fory fam, gof wemait wr nfvrdg wfean #t
ST T1RT | ISTeRvT & g 13 - Tty Tfrane SR & SisAae AN ST 3aifs 13
W fpar ST gHar 81 13 B 1 3R 3 H fyuTira &= iR e 1 3R 3 W nifordta dfpamg
H B At T 81)

(45, 15, 120)
(27, 8, 76)

Ans X 1.(72,58, 84)
< 2.(30, 12, 80)
« 3. (56, 48, 32)
X 4.(23, 14, 38)

Question ID : 26433082546
Status : Not Answered
Chosen Option : --




Q.20 39 BT g B R FBIme g # S veR Taft § o ver frafataa

Ans

8wt 3 wiafera &1
(Fite: Tl F IuF geP it & il fg fam, gof wemnsei w nirhy wfearg #t
S TIRT | ISTeRVT & T 13 - Kty Aferant SR % SisArae AN S3-1 3afs 13
T forar o1 warar 81 13 BT 1 30 3 & v w1 3k 67 1 3R 3 W wifvrdia wifdrang
B B Al TE 1)

(17, 24, 58)
(26, 37, 89)

& 1.(15,17,47)
X 2. (41, 39, 125)
< 3.(10, 20, 44)
X 4.(21, 38, 96)

Question ID : 26433074562
Status : Answered
Chosen Option : 1

Q.21

Ans

59 Uy # A9 HUF 3w 1 ¥, foraes a1g A9 ey 1, 1 3R 11 faw e 81 Sy B a@
AR 5T, 4@ R A e et @ e i 81 g, kg SR R e e syt
mmﬁmwﬁmm%&mwﬁl

Hﬂﬂ;g%mg%'l
i il DY
o
. O PN AT3fpd &
II. $B WTEfHd TP ¢
IIl. T© 915F T B
2 1. Had B 11 3R 111 SRR AR § 1

o 2. Had ey | 3R 1 3R R B
< 3. Had fspd | SR 111 S8R B &
X 4. it freep SRR AR B

Question ID : 26433070399
Status : Answered
Chosen Option : 4

Q.22 fafafaa vy & & 7€ foar § | g i@ gid S|

Ans

480, 240, 120, 60, 30, ?
& 1.15
X 2.17
X 3.18
X 4.21

Question ID : 264330105021
Status : Answered
Chosen Option : 1

Q.23 39 ey &1 9 PR, FRIeT ufad ieR-T9g | 3% 981 Tay 7, St Wa gav 31eR-

Ans

TR FT UEA EGR-TYE | ¢ X 8 AdY Y 3eR-THE BT HAY &R THE A 81
COMPLEX : OCXELPM :: BALANCE : ABECNAL :: AIRLINE : ?

25 1. RAINELI
/< 2. ARLINEI
«” 3. IAENILR
25 4.ELNIIAR

Question ID : 26433069017
Status : Answered
Chosen Option : 3




Q.24 T Y <) FI 3PS AP B AR TR HIA & YT, B T g Ay I

Ans

U STEI?

1. Native

2. Nationality
3. Nation

4. National

5. Nationalism

/25 1. National
/< 2. Nationalism
«” 3. Nationality
/< 4. Nation

Question ID : 264330104884
Status : Answered
Chosen Option : 2

Q.25 g fAif3a

Ans

< 1. OQDNKG
< 2. DQOKNG
< 3. OQDKNG
« 4. OQDGNK

HTST #, 'CABLES' ®1 'ECDUGN' for@T SITdT & 3R 'PHONES' ®1 'RJQUGP’
feram SiTar 8 1 I HTST # "MOBILE' &Y 9 o sirem?

Question ID : 26433066019
Status : Answered
Chosen Option : 4

Section : General Awareness

Q.1 3T AR B 2013 § FafifEa # @ 5o Reer S g e wr ure

Ans

2< 1. I el

2. 7% G UG
X 3. WRd g g
X 4 DIfde™ IHH

Question ID : 26433090712
Status : Answered
Chosen Option : 4

Q.2 weaur § frdt o+t Rt #Y B & g Mgl (B1ew) ¥ Gowl B YA ravgd

Ans

e ot 82

X 1. 9&T & &Rl B Hol UAT BT yiadl U
X 2. 9 & IS DI o TSAT BT T [IgTS
X 3. 9 & S B H TS HT TS TS
4. 9981 & Hedl &1 $d S HT gHdl YN

Question ID : 26433072918
Status : Answered
Chosen Option : 4




Q.3 #3 2022 ® i faeeht &1 SRTSaUTe fHger fovam e
Ans X 1.fag SRR 3wt

2. [T SUR S
X 3.fa0% AR
7 4. 3RfdE Fwr

Question ID : 264330105330
Status : Answered
Chosen Option : 2

Q4 fomfifEa o § $i9-91 371 2023 F ... (1cc) afgan 3isw -19 e fay $u & wgd
TXHUT B AT B2

Ans X 1. SieR
o 2. CIRUT 37ThTchT
X 3. YRd

X 4.5

Question ID : 26433059406
Status : Answered
Chosen Option : 3

Q5 gf o gors Fafafed & § - 32
Ans X 1.dlc

2. BRI T

X 3.5

X 4.ged

Question ID : 26433066455
Status : Answered
Chosen Option : 2

Q.6 Iférer “CPCL” YRA & USIforaw IERT A Heftd 81 “CPCL” PT fawarig w1 ford |
Ans  # 1. Chennai Petroleum Corporation Limited (aﬂémﬁw%ﬁ%@)

< 2. Coimbatore Petroleum Corporation Limited (®1dgR UeIfera HIaReH fAfies)
#% 3. Central Petroleum Corporation Limited (@zaﬁa%mﬁu’hm%ﬁ%-s)

< 4. Corporation of Petroleum and Chemicals Limited (B1AR 3t Ueiferay T8
Fime fafties)

Question ID : 26433089212
Status : Answered
Chosen Option : 4

Q.7 AiMRgas AeTeTe Fafaf@a ¥ @ fFaet wert o1 qufq Har 82
Ans X 1. Paa 3R ATd F 9

o 2. BT 3R Jedt B S
X 3. HIa B 4d yel Fadt
X 4. Dlac & Tell AT

Question ID : 264330105205
Status : Answered
Chosen Option : 2




Ans

1. Fcq
X 2.3gge
7< 3. oR-UfIER

X 4.Ud

Q.8 fFmfafad & @« a1 Teas Pusha dad o1 i 78 o1, 5 e iRy v @ g
& Fetel WR e w4 F forg wieal 9o @t 12

Question ID : 264330105409
Status : Answered
Chosen Option : 1

Ans

Q.9 e ¥ | fra ad § gagr it 3mg 21 96 A g 18 I¢ B2 &t 7 A2

< 1.1989
< 2.1992
< 3.1990
o 4.1988

Question ID : 26433074891
Status : Answered
Chosen Option : 2

Ans

Q.10 FofifEa 3 & fry siteife @ § yRd A ol uge =& sfiar?

1. 1960
< 2.1948
< 3.1932
< 4.1928

Question ID : 26433071543
Status : Answered
Chosen Option : 3

Ans

fRuferl & ue-wu= smaa arelt A F srojait 3t wem wu gnir?
> 1. STeeA &1 199

X 2. 1-qu® & Fam

3. NSl &1 |

X 4. &1 oy

Q.11 1811 ® wRafaa v fFram & g1 9% Yaigam wga f3an wan o1 f% arg 9 g9 3t 99=

Question ID : 26433064085
Status : Answered
Chosen Option : 3

Q.12
Ans

feda vaadfa e § fFa & W Aty ga far mare
X 1.3

X 2. uRag

X 3. UR

o 4.3

Question ID : 26433065446
Status : Answered
Chosen Option : 2




Q13 g i fafeifear _ grivwREa @Rl
Ans 1 R (S

X 2. drS B

X 3. 9T

X 4. 1S SRt

Question ID : 264330105541
Status : Answered
Chosen Option : 3

Q.14 ITRTST YW IR IS4 quH o1 Tefia )
Ans 1. dd

X 2. 7wa

X 3. g

X 4.Uisy

Question ID : 26433091455
Status : Answered
Chosen Option : 3

Q.15 FafifEa & | FI9 Fyw ARAT T BT URIS FAPR 32
Ans X 1 el TR

2< 2. Uohof TRUI 1™

3. YA

X 4.3

Question ID : 26433064384
Status : Answered
Chosen Option : 1

Q.16 guft & SiaRe w1 o7 1 fF e vret et 32
Ans 1. Yf&arentf St

X 2. SaragEt

2 3. IR FoIf

X 4. %R

Question ID : 26433064462
Status : Answered
Chosen Option : 4

Q.17 fFg YR q9aT aIe® 3R WHAPHR 7 Taed gH Mvae & T 3w HeuRd ae8
TRTe Ty Tl PR Sfar?
Ans o 1. IIE TR goH
X 2. Ufgqd ddlu g™
7 3. dfsa siffel Tesit
X 4. JIE S @

Question ID : 26433071527
Status : Answered
Chosen Option : 3




Q.18 AFGMT 7 (Mariana trench) T HETARR # fRu 872
Ans X 1. 3HCH AERNR

o 2. URId HETRR
X 3. 3fcdifcd HERFR
X 4. GfEol HErIRR

Question ID : 264330105625
Status : Answered
Chosen Option : 2

Q.19 fmfafea & 3 frast 518 mis2 82
Ans X 1.491d

2. @

x3.gl

X 4.3

Question ID : 264330105462
Status : Answered
Chosen Option : 4

Q.20 i e A 3@ty & forg wgufa Sudt 99 g1 WRA & T sret o & w0 el
frgaa farar man 82

Ans X 1. Ugd HIUNAADT
X 2. B gTH
o 3. 3R, dHeAf
X 4. Yo TRAd 95

Question ID : 264330105218
Status : Answered
Chosen Option : 4

Q.21 STHWR T9d 51 B Tad w1 B g1 gt B {6\ & =nfire fvan srar 32
Ans X 1. M1

X< 2.M3
3. M2
X 4.M4

Question ID : 264330105381
Status : Not Answered
Chosen Option : --

Q22 R dqiicaoiH_ S arew A gar gl
Ans 1. €l

X 2. udsH! S

X 3. PIRETE

7 4. DIb BB

Question ID : 264330105456
Status : Answered
Chosen Option : 2




Q.23 S IUENT & Haffis deig e $19-a1 8 2
Ans p 1 fagaf

X 2. e

X 3. femse

X afe

Question ID : 264330105505
Status : Answered

Chosen Option : 2

Q.24 fAfafEa o | fFd YRAT AR T Ui & fJer iR TR # 39 aR1eM & forg
forsuren fasufa Sawumw $1 3RAMT AdPT (“Resident Dancer”) & ¥4 § Ar=gdr €t

g fi?

Ans 1. I HUE
X 2. il ot
X 3. 3u =M

7< 4. e &

Question ID : 26433092378
Status : Answered
Chosen Option : 2

Q.25 mymmwmmm%mmmmem
?
Ans ¢1.W

X 2. PlcH
X 3. IR
X 4. BTG

Question ID : 264330105313
Status : Answered

Chosen Option : 1

Section : Quantitative Aptitude

x—y)*+(y-2)*+(z-%)° >
e P A FAET, SRl x#y # z gl

Ans x 1
3

1

2, =

v 2

x 1

3. =

3

X4 7

Question ID : 26433074494
Status : Answered
Chosen Option : 2




Q2 (g3 +80x7 +200x) R (4x* + 16x* — 20x?) F FHH FATEH (LCM) 71 §2
A X1 4x?(x+5)2(x— 1)

v2 8x2(x+5)(x—-1)

x5 8x%(x— 1)%(x+5)

x4 4x%(x— 1)%2(x +5)

Question ID : 26433080082
Status : Not Answered
Chosen Option : --

Q3 tanla =3+ Q* &, drseca + tan®a cosec a =7

Ans

& 1. (4+ szg
52 [T+ Qz:,f:
503, (5 - Qz:,f:

X 4. [3 = Qz:,f:

Question ID : 26433066338
Status : Not Answered
Chosen Option : --

Q4 gfg TH GBI K = 42 x 25 x 54 x 135, 32 §RT fAHT §, & a BT ARIGaH A 7 PIfoME|
Ans X 1.4

X286
X 3.5
S 4T

Question ID : 26433075715
Status : Answered
Chosen Option : 4

Q5 TH gHE A 5 Uiawra 1 ge UeH #1 At 7 ok af ge & a1g Fa 39 fkr 22,000 A
3ifirep g, Y 10 wfo=ra &Y Sifafed ge ueM &1 Wikl 81 9fe U UTew 2500 TS $ HiAd
¥ Ui Iare Whedr 2, 9 SUP §RT YA B &I arent 3ifaw M (2 F) Fra S

Ans X 1.32,500
X 2.32,3755
 3.32,1375
X 4.322255

Question ID : 26433076006
Status : Answered
Chosen Option : 4




Q.6 TP wfew fasdt fAifda o &t 7 uforwra & arffe o & IruRor sarT W) SR 31 9T 1
auf & yred foar T TS YR &) T AR F 920 U FH g1 IUR & T AR | |72

Ans X 1.52000 303
2 2. 41200 39
7 3.2400 39
o 4. 4000 39

Question ID : 264330105670
Status : Marked For Review
Chosen Option : 4

Q.7 3¢ i AYys & FHioN o1 3qura 1: 2: 3 8, A 98 o yeR w1 Ay= 82
Ans X 1. gHaTg YW

2. TSI By

X 3. 3 P Aye

X 4. gofgarg Bys

Question ID : 26433071272
Status : Answered
Chosen Option : 2

Q.8 AXYZH, .X=90°, YZ= 15 cm, 3MR XZ = 12 cm &1 R Cos Y F1d P

Ans 2
<1 5

3

XZE

4

< 3. E
¢4.§

5

Question ID : 26433085502
Status : Not Answered
Chosen Option : --

Q.9 Ren T & e A FeEr-weE Aot P, Q AT REATT sRERfAT w6t # AW ¥ Ione (7@ = H) F A g §
HW H A Sifew A A R v g W I afEv

e ot & @7 L9t p, q, R FET WEw =
FIFaga (FrE T A

ot aat @ steE sea e g & e s B
Ans X 1.P3RR
X 2.P3RQ
X 3. %aaQ
4. FAAR

Question ID : 26433076086
Status : Answered
Chosen Option : 1




Q.10 Tf T g F aRf 220 V.71, B, ) SuH Bswm w @2
Ans X 1.409H

X 2.26 9
 3.359.
X 4259

Question ID : 264330105842
Status : Answered
Chosen Option : 3

Q.11 gfE tan A — tan B — tan C = tan A tan B tan C 8, @ B 3iR C & U # A &1 71 Fa1 gN12
Ans 1 A=B+C

X2 A=2B-2C

X3A=B-C
B-C

X4 A=

Question ID : 26433061940
Status : Answered
Chosen Option : 1

Q.12 T qrp fAufor Ut A 2018 # X H@& & AR @1 fAwfor far 599 2019 & st
frator ermar & 30% F1 g B R TP T1g 2020 W 3B FAToT & 15% B 3R gfg B
2021 ¥, W99 & W9 811 & SR 39S fAuor & 40% & fRmae o | afe 2021 &
179400 WIS 1 fAwtor fomar Sirar @ & X &1 714 Fa1 g

Ans X 1.180000
2 2.230000
2< 3.210000
« 4.200000

Question ID : 26433061454
Status : Not Answered
Chosen Option : --

Q.13 e e Srefia &1 oy 35 V.41, B, At refia &7 s w®an 372
Ans X 1.17428.33 9413

< 2.15248.46 9.1 3

X 3.9478.26 9.11.3

o 4. 1122917 43

Question ID : 264330105849
Status : Answered
Chosen Option : 4




1 o wrwrag P o e 0.3 T ¥ T wwag Byw @ dawa w32
Ane w1 8143 A2

X 2. 4943 A2

X3 673 A2

X 4. 92,3 A2

Question ID : 264330105829
Status : Answered
Chosen Option : 1

Q15 & a§ e a6t & Rv v ¥ F 9y BA vH O @ A F FeH & T F S B @
Fr gt ¥ arfee @1 arcawe S sk AR B aw g # 3R Sfvw

EL e | A | wFT | S

1998-2000 | 181 | 50| 35 |26

2003-2005 | 167 | 44 | 39 |17

2008-2010 | 169 |38 | 49 |25

2013-2015| 150 | 45| 51 | 21

2018-2020 | 147 | 54 | 63 | 24

T arv @t & T & Tv sTaaw wId g9 T A WAk @t et f @O A F AT
TopaeT "o &7

Ans 1. 18.75%
X2 15.32%
X3 13.52%
x4 17.85%

Question ID : 26433085492
Status : Not Answered
Chosen Option : --

Q.16 1500 m B ¥ ¥, TfS G181 P 9181 Q B 200 m H} 9&d 3T 8, A a6 P, 8 sec & ¥ oftd
ST 21 39 fAudia, afd a8 P 9189 Q Y 400 m B Fd a1 8, O I RIS W JHIE
Bl 81 918 P &Y 1500 m =e § fopa=1 I9a aran 82

Ans X 1.40 sec
o« 2.44 sec
/< 3.60 sec
25 4. 45 sec

Question ID : 26433072975
Status : Not Answered
Chosen Option : --




Q.17

AFTaTEd FARIT I T HITeT] x & gr AEN & 7 3R 8?2

7x+ 4{x* = (5x + 10)} — 3{5%— ¥+ (3x? =+ x)}zo

Ans X 1.16
X 2.8
& 3.17
X 4.5

Question ID : 26433082790
Status : Not Answered
Chosen Option : --

Q.18 = &t 7€ arferet ve o A vt et § e & Riw aie smada &) ot 31

=T | 93¢ &
7 325
K 175
L 350
M 525
N 635

Ia K F Rign & g aw1e smdet, 3y L ® Rren & g aote sirdes &1 fa=n wfisma 22
Ans X 1. 45 Uf=rd
< 2. 150 fa=id
« 3. 50 U=
< 4. 55 gfawd

Question ID : 264330105747
Status : Answered
Chosen Option : 3

Q.19 Rs.80 Ufdl kg 3R Rs.50 Ufdl kg B AE B 1: 2 : 3 F Furd A T fFwy 1 1g & A1y
gfrlrmm%l Tfe fI3or &1 Yo Rs.75 Ui kg &, a1 dat i & g &1 v kg gea
?

Ans X 1.Rs.85
/5 2.Rs.95
< 3.Rs.80
 4.Rs.90

Question ID : 26433061133
Status : Answered
Chosen Option : 4

Q20 m@mwmmm%mmm%ﬁﬁaﬂ cmﬂ‘FETEfIﬁT%LﬁEﬁWﬁWﬁcm%I
PR PTG deb GHTY A 1 o (m = 22 difSd )|

Ans

X 1532 cm?
X2 523.4107 cm?
X3 484 cm?
v 4 2550548 cm?

Question ID : 26433065307
Status : Not Answered
Chosen Option : --




Q.21 {5t avg A faept R URT® v uforra 55% 11 afs 39 avg & 9 qea § 24% o1 IS
BNl 3, A farsha Teu @@t Tga 8, df 7ar wry wfasrd 3ra Sierg

Ans X 1.36%
X 2.28%
X 3.33%
& 4. 25%

Question ID : 26433066301
Status : Answered
Chosen Option : 4

Q.22

i x® +y2+ 2y +4x+5=0%, dl

2 BT A T

Ans x 1. =3

Question ID : 26433091950
Status : Answered
Chosen Option : 1

Q.23 3 &t 7¢ aifRreT uta Hadial gRT IeuTe Bt S f{eA P wen B quid 21

el | el
Fl 250
F2 450
F3 350
F4 150
F5 550

F2 gR1 i R @1 T, F4 grR1 A e 3t W@ o1 fHan ufowe g2
Ans X 1. 200 yfa=d

X 2. 50 Ufa=E
2 3.100 Ufc=rd
« 4. 300 Ufa=ma

Question ID : 264330105714
Status : Answered
Chosen Option : 4

Q.24 25 7HY 3N 45 URFATE TP BRI BT 15 3T & Q1 B2 D d €, 9P 15 T3 3R 60
uﬁ%sgzoﬁﬁﬁwmm%mgmemsmﬁmwm fra et A g
B ?

Ans X 1.5
& 2.6
% 3.10
X 4.8

Question ID : 26433075298
Status : Not Answered
Chosen Option : --




Q.25 6 3R 54 BT AU 15 4w 31
Ans X 1.5

X 2.6
X 3.4
& 4.3

Question ID : 26433066175
Status : Not Answered
Chosen Option : --

Section : English Comprehension

Q.1 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.

The boy had run away / because he couldn’t stand / his father beat him / for one more
day.

Ans X 1. for one more day
/< 2. The boy had run away
/< 3. because he couldn’t stand

«” 4. his father beat him

Question ID : 26433088159
Status : Answered
Chosen Option : 4

Q.2 Select the most appropriate option to fill in the blank and complete the collocation.

Akshay always gives to Johana for his success.
Ans X 1.chance

< 2. opportunity
«” 3. credit
/< 4. blame

Question ID : 26433073564
Status : Answered
Chosen Option : 3

Q.3 Select the most appropriate synonym of the underlined word in the given sentence.

The next move of the opponent was anticipated by the team.
Ans X 1. Suspected

< 2. Forgotten
«” 3. Predicted
/< 4. Dreaded

Question ID : 26433071963
Status : Answered
Chosen Option : 3




Q.4 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.
You must / be hurry, / otherwise you will / miss the train.

Ans 7 1.be hurry,
25 2. You must
/< 3. miss the train.

/5 4. otherwise you will

Question ID : 26433086306
Status : Answered
Chosen Option : 4

Q.5 Select the most appropriate meaning of the underlined idiom in the given sentence.
Nobody in the conference seemed to believe the cock and bull story about such a
major movie star.

Ans X 1.Factual story
/5 2. Interesting story
/< 3. Secretive story
«” 4. Wildly exaggerated or falsified story

Question ID : 26433061577
Status : Answered
Chosen Option : 4

Q.6 Sentences of a paragraph are given below in jumbled order. Arrange the sentences in
the correct order to form a meaningful and coherent paragraph.
A. Poor posture may strain neck muscles, whether you're leaning over your computer
or hunching over your workstation.
B. However, neck pain may occasionally be an indication of a more serious issue.
C. Neck pain is a frequent problem among many people these days.
D. If your neck pain is accompanied by numbness or lack of strength in your arms or
hands, or if you experience shooting pain into your shoulder or down your arm, you
should seek medical attention.

Ans X 1.ABDC
< 2.BDCA
« 3.CABD
< 4.CADB

Question ID : 26433093052
Status : Answered
Chosen Option : 4

Q.7 Fill in the blank with the correct collocation.

Holm, a Danish traveller, had made a/an replica of the tablet, which in 1908
was deposited in the Metropolitan Museum of Art, New York.

Ans X 1. corrupt
5 2. obscure

< 3. wild

o« 4. exact

Question ID : 26433090504
Status : Answered
Chosen Option : 1




Q.8 Select the most appropriate synonym of the underlined word in the following

sentence.
The way Sheetal imparts knowledge to her students is really praiseworthy.

Ans 7 1. ftransmits
/5 2. discloses
/< 3. exposes

25 4. admits

Question ID : 26433066414
Status : Answered
Chosen Option : 3

Q.9 Select the most appropriate ANTONYM of the highlighted word in the following
sentence.

The managing director produced cogent reasons for the change in HR policies.
Ans ¢ 1. Unconvincing

< 2. Compelling

/< 3. Pertinent

/< 4. Unexpected

Question ID : 26433065224
Status : Answered
Chosen Option : 1

Q.10 Rectify the sentence by selecting the correct spelling of the underlined word.
She is a nuisanse to her family.
Ans X 1.newsance
25 2. nuisince
«” 3. nuisance

/< 4. niusance

Question ID : 26433065145
Status : Answered
Chosen Option : 3

Q.11 Select the most appropriate meaning of the underlined idiom that can be substituted in
the following sentence.

The game is now in full swing.
Ans ¢ 1. very active
/< 2. playing on the swings
/< 3. very passive
< 4. very uninteresting

Question ID : 26433072229
Status : Answered
Chosen Option : 1




Q.12 Select the option that expresses the given sentence in passive voice.

The secretary was noting down the dictation.
Ans ¢ 1. The dictation was being noted down by the secretary.

/5 2. The secretary noted the dictation.
/< 3. The dictation was noted down by the secretary.

/% 4. The notes were noted by the secretary.

Question ID : 26433088945
Status : Answered
Chosen Option : 1

Q.13 Rearrange the parts of the sentence in correct order.
The Google doodle
P. with a cup of green tea, beaker and
Q. Tsujimura working in her laboratory
R. some green tea leaves by the side
S. features a graphical representation of

Ans X 1.RSPQ
X< 2.RPQS
« 3.SQPR
X 4.PQSR

Question ID : 264330104688
Status : Answered
Chosen Option : 3

Q.14 Select the correct direct form of the given sentence.
She said that she could not believe him.

Ans X 1. She says, “I could not believed him.”
/< 2. She said, “I may not believe him.”
X 3. She said, “You cannot believe him.”

«” 4. She said, “| cannot believe him.”

Question ID : 264330104638
Status : Answered
Chosen Option : 4

Q.15 Select the most appropriate option to substitute the underlined segment in the given
sentence. If there is no need to substitute it, select ‘No substitution’.

She lived in well-resourced surroundings.
Ans X 1. luxury
«” 2. luxurious
< 3. No substitute

< 4. luxuriousness

Question ID : 26433073901
Status : Answered
Chosen Option : 2




Q.16 Select the most appropriate synonym of the bracketed words to fill in the blank.

The lights (lighting up) the artwork on the walls of the museum were looking
beautiful.

Ans X 1. enlightening
5 2. mesmerising
< 3. trafficking
” 4. illuminating

Question ID : 26433071820
Status : Answered
Chosen Option : 4

Q.17 Select the option that can be used as a one-word substitute for the given group of
words

Allowance given to a wife from her husband on separation
Ans X 1. Allegory

«” 2. Alimony
/% 3. Advocacy
X 4. Affidavit

Question ID : 26433070704
Status : Answered
Chosen Option : 2

Q.18 Rearrange the parts of the sentence in correct order.
Thorium has
P. and is part of a nuclear programme in India
Q. of nuclear reactor in countries including
R. been tested as a fuel in other types
S. the United States, Germany and the United Kingdom,

Ans X 1.PSQR
2. RQSP
< 3.SPQR
X 4.RPQS

Question ID : 264330104686
Status : Answered
Chosen Option : 2

Q.19 Select the sentences that contains no spelling errors.
Ans X 1. My mother asked me to purchase two bread knives having serated edges.

«” 2. My mother asked me to purchase two bread knives having serrated edges.
< 3. My mother asked me to purchase two bread knives having seerated edges.

< 4. My mother asked me to purchase two bread knives having serratted edges.

Question ID : 26433070694
Status : Answered
Chosen Option : 1




Q.20 Select the correct active form of the given sentence.

Ans

Football tournament was being avoided by his son.
«” 1. His son was avoiding football tournament.

/< 2. His son avoids football tournament.
/< 3. His son is avoiding football tournament.

< 4. His son avoided football tournament.

Question ID : 264330104589
Status : Answered
Chosen Option : 1

Q.21
Ans

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

One’s options in this world are as (1) as the horizon, which is
technically a circle and thus (2) broad. Yet we must choose each step we
take with (3) caution, for the footprints we leave (4) are as
important as the (5) we will follow. They're part of the same journey: our
story.

SubQuestion No : 21
Select the most appropriate option to fill in blank number 1.

2 1. slight
/5 2. narrow

/5 3. contracted
o« 4. vast

Question ID : 26433084944
Status : Answered
Chosen Option : 4

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

One’s options in this world are as (1) as the horizon, which is
technically a circle and thus (2) broad. Yet we must choose each step we
take with (3) caution, for the footprints we leave (4) are as
important as the (5) we will follow. They're part of the same journey: our
story.

SubQuestion No : 22

Q.22 Select the most appropriate option to fill in blank number 2.

Ans

&5 1. severely
«” 2. infinitely
5 3. strictly

/5 4. rigorously

Question ID : 26433084945
Status : Answered
Chosen Option : 3




Q.23
Ans

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

One’s options in this world are as (1) as the horizon, which is
technically a circle and thus (2) broad. Yet we must choose each step we
take with (3) caution, for the footprints we leave (4) are as
important as the (5) we will follow. They're part of the same journey: our
story.

SubQuestion No : 23
Select the most appropriate option to fill in blank number 3.
/5 1. inattentive

#< 2. unmindful
«” 3. utmost
X 4. slack

Question ID : 26433084946
Status : Answered
Chosen Option : 4

Q.24
Ans

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

One’s options in this world are as (1) as the horizon, which is
technically a circle and thus (2) broad. Yet we must choose each step we
take with (3) caution, for the footprints we leave (4) are as
important as the (5) we will follow. They're part of the same journey: our
story.

SubQuestion No : 24
Select the most appropriate option to fill in blank number 4.
< 1. discarded

/X 2. surplus
« 3. behind

/X 4. excessive

Question ID : 26433084947
Status : Answered
Chosen Option : 3

Q.25
Ans

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

One’s options in this world are as (1) as the horizon, which is
technically a circle and thus (2) broad. Yet we must choose each step we
take with (3) caution, for the footprints we leave (4) are as
important as the (5) we will follow. They're part of the same journey: our
story.

SubQuestion No : 25
Select the most appropriate option to fill in blank number 5.
/< 1. custom
/< 2. approach
«” 3. path
#< 4. manner

Question ID : 26433084948
Status : Answered
Chosen Option : 3




